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Question No : 1

Which statement best describes the revalued amount of an asset?

A. Its fair value at the date of revaluation less accumulated impairment

B. Its fair value at the date of revaluation less accumulated depreciation

C. Its fair value, less retained earnings

D. Its fair value at the date of revaluation less accumulated depreciation and accumulated
impairment

Answer: D

Question No : 2

Which of the following should be used when discounting a benefit in order to determine the
present value of the defined benefit obligation and the current service cost?

A. Fair value

B. Time value of money
C. Net present value

D. The corporate vision

Answer: C

Question No : 3

When the quality of information confirms users’ earlier expectations, which characteristic is
being represented?

A. Verifiability

B. Predictive value

C. Confirmatory value

D. Faithful representation

Answer: C
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Question No : 4

Why is faithful representation important in accounting documentation?

A. It ensures neutrality on the part of the company’s accounting department
B. It guarantees that all information is free from error

C. It is useful if information represents what it purports to represent

D. It indicates that accountants have confirmed all of the data

Answer: C

Question No : 5

What is a constructive obligation?

A. When a company recognizes the expected cost of profit-sharing and bonus payments
B. When a company has no realistic alternative but to make payments

C. When a change in the company’s informal practices would cause unacceptable damage
to its relationship with employees

D. The required accounting entry for liabilities or accrued expenses or cash paid

Answer: C

Question No : 6

What are the usual and customary costs that a company incurs to support its main
business called?

A. Operating expenses
B. Current liabilities
C. Current debt
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D. Total expenses

Answer: A

Question No : 7

Which of the following are ingredients of the fundamental qualitative characteristics of
faithful representation?

A. Complete, neutral, freedom from error

B. Assets, liabilities, equity

C. Predictive value, confirmatory value, relevance
D. Comparability, verifiability, timeliness

Answer: A

Question No : 8

When the economic consequences of a standard or rule is ignored, which characteristic is
being represented?

A. Neutral

B. Verifiability
C. Complete
D. Relevance

Answer: A

Question No : 9

Which of the following describes the concerns of Level 3 of the conceptual framework for
financial reporting?
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A. Basic objective

B. Recognition, measurement, and disclosure concepts
C. Fundamental concepts

D. Elements of financial statements

Answer: B

Question No : 10

Employee benefits that are expected to be settled wholly before twelve months after the
end of the annual reporting people in which the employee rendered the related service are
considered what kind of benefits?

A. Short-term benefits

B. Post-employment benefits
C. Termination benefits

D. Long-term benefits

Answer: A

Question No : 11

Employee benefits provided in exchange for the end of an employee’s employment are
considered what kind of benefits?

A. Short-term benefits

B. Post-employment benefits
C. Termination benefits

D. Long-term benefits

Answer: C

Question No : 12
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The International Accounting Standards Board (IASB) has given companies the option to
use fair value as the basis for measurement of financial assets and liabilities. Which of the
following best defines fair value?

A. Aresidual interest in the assets of the entity after deducting all its liabilities
B. Faithful representation of the amount paid for a given item

C. Amount for which an asset could be exchanged or a liability settled between
knowledgeable, willing parties in an arm’s length transaction

D. Quality of information that confirms users’ earlier expectations

Answer: C

Question No : 13

What is the timing of revenue recognition?

A. When it is probable that future economic benefits will flow to the company and reliable
measurement of the amount of revenue is possible

B. When the company reports current and non-current classifications in its statement of
financial position

C. When economic benefits are received by the company and reliable measurement of the
amount of revenue is possible

D. When users have sufficient reasonable knowledge of business and financial accounting
matters to understand the information

Answer: A

Question No : 14

In defined contribution plans when the contributions are not expected to be settled wholly
before twelve months after the end of the reporting period, what must occur?

A. The employer must assume risk for the plan

B. Contributions must be discounted

C. Contributions must not be discounted

D. The employer must pay a specified amount to the employee
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